Bài toán trong tam giác ABC có BC=a, CA=b, AB=c

B1>

C/m: a^2+b^2+R^2>=c^2 
a^2+b^2-c^2=2abcosC
2abcosC>=-R^2

8R^2sinAsinBcosC>=-R^2

sinAsinBcosC>=-1/8

sinAsinBcos(-cos(A+B))>=-1/8

sinAsinBcos(A+B)<=1/8

f(A,B)= sinAsinBcos(A+B) 

df/dA = sinB(cosAcos(A+B)-sinAsin(A+B))=sinBcos(2A+B)
A=d^2f/dA^2= sinB*-sin(2A+B)*2=-1

df/dB=sinAcos(2B+A)

C=d^2f/dB^2=sinA*-sin(2B+A)*2=-1

B=d^2f/dAdB=cosBcos(2A+B)+sinB*-sin(2A+B)=cos(2A+2B)=-0.5

2A+B=90

2B+A=90

A=30, B=30 

B2>
C/m: 3sqrt(3)R>=2S,  
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<->3sqrt(3)R>=2*abc/(4R)= abc/(2R)

<->3sqrt(3)*2R^2>=abc = 8R^3sinAsinBsinC

<->sinAsinBsinC <= 3sqrt(3)/(4R)

<--> RsinAsinBsinC <= 3sqrt(3)/4
S= abc/(4R) ( 4RS = abc ( R/S = abc/(4S^2) 
*>R= abc/4S = abc/(4R^2sqrt()) ( 4R^3=(8R^3sinAsinBsinC)/sqrt() ( ½= sinAsinBsinC/sqrt()
4S=sqrt((a+b+c)(a+b-c)(b+c-a)(c+a-b))=4R^2sqrt((sinA+sinB+sinC)(sinA+sinB-sinC) (sinB+sinC-sinA) (sinC+sinA-sinB))
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Ta có: 
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Theo hệ thức Euler
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Mà 
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B3> Cmr : 
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Sol:
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Hơn nữa:
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